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Part 1: Reading Comprehension | (Brs 80 45)

Use the information in the article to answer questions (1) — (8). For each question, choose one answer
(A,B,CorD).
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Source:

Mainichi Japan (2021, February 5). Under the sea, humans have changed ocean sounds. The Mainichi.
Retrieved from https:/mainichi.jp/english/articles/20210205/p2g/00m/0sc/045000c
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What is the main theme of the article?

(A) the impact of changing ocean sounds on humans

(B) the effects of human-made noise on marine life

(C) the sound experiments being conducted under the sea

(D) the newest methods that scientists use to learn about ocean sounds

According to the article, what is one characteristic of sound in water?

(A) It travels a long way.

(B) It tends to scatter.

(C) Its speed varies depending on the temperature.
(D) It travels slower through water than through air.

According to the article, what did the researchers do to understand how the ocean soundscape
Is changing?

(A) They recorded fish movements with underwater cameras.
(B) They estimated the number of fish in the sea.

(C) They measured stress levels in fish.

(D) They examined many data sets and research articles.

According to the article, what has a similar frequency to fish sounds?

(A) the sound of scientists sifting through data
(B) the noise of underwater research vehicles
(C) the noise from shipping traffic

(D) the sound of melting ice



(5) | Based on the article, what is one source of noise pollution in the Red Sea?

(A) large ships

(B) underwater microphones
(C) small fishing vessels

(D) oil platforms

(6) | According to the article, which one of the statements about marine animals is true?

(A) They are adapting well to noise pollution in their environment.
(B) Their numbers have reduced by about 50% since 1970.

(C) They are interfering with human activity.

(D) They use light more than sound to communicate.

(7) | According to the article, how does climate change impact the ocean soundscape?

(A) It influences the frequency of shipping traffic.
(B) It masks the sounds made by humans.

(C) It prevents offshore construction.

(D) It affects the wind and waves.

(8) | According to the article, what did Francis Juanes say is easiest to reduce?

(A) overfishing

(B) plastic waste
(C) sound pollution
(D) climate change



Part 2: Writing | (B A 50 £3)

Explain two ways in which people benefit from the ocean. Write about 100 words in English.
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Part 3: Reading Comprehension Il (Fc A 40 #)

Use the information in the article to answer questions (1) — (4). For each question, choose one answer
(A,B,CorD).
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Source:

Komiyama, R. (2021, May 2). Trilinguals beat bilinguals in test on speed to learn a new language. The
Asahi Shimbun. Retrieved from http://www.asahi.com/ajw/articles/14331918






(1) | Which statement correctly summarizes the article?

(A) Learning a new language is easy for trilinguals.

(B) Trilinguals were the fastest to learn English in a competition.
(C) Trilinguals can learn a new language faster than bilinguals.
(D) Trilinguals complete Spanish tests faster than bilinguals.

(2) | According to the article, how were trilinguals different from bilinguals?

(A) Trilinguals were able to learn Kazakh but bilinguals were not.

(B) Trilinguals used parts of their brains more actively than bilinguals.

(C) Trilinguals had higher Japanese and English listening abilities than bilinguals.
(D) Trilinguals did not need grammatical rules when learning Kazakh.

According to the article, what does Kuniyoshi Sakai say is an effective way of learning
@) English?

(A) studying another language at the same time
(B) focusing on visualizing new vocabulary
(C) practicing the pronunciation of new words
(D) learning the grammatical rules first

(4) | According to the article, what languages did all the trilinguals speak before the experiment?

(A) Kazakh and Spanish
(B) Spanish and Japanese
(C) Kazakh and English
(D) Japanese and English



Part 4: Writing I (B3 30 %)

Describe two advantages of being able to communicate in more than one language. Write about 60
words in English.
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